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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

( For Arts )

( Basic Statistics for Economics )

1. Answer the following as directed 1x7=7

et frapTyza et s s fior

(a) The geometric mean of s and i is
32 25
1 8

— R —F QS 14 2
32 25 g
8l
1 —
(i) G
;. 1
) ——
@ 100
(i) 10
(iv) 100
(Choose the correct answer)

(%% Teqco! Arfy Tferen)
8A/218 ( Turn Over )



(2)

(b) If the minimum value in a series is 20
and its range is 47, the maximum value
of the series is

I o1 S ey AT 20 S 2T
47 W, (O@ SATCIANOR Twey s 2]

(i) 67

(ii) 57

(iii) 48

(iv) None of the abaove

ST OIS T
(Choose the correct answer)

(o= Tech MR Tfere)

(c) If r is the correlation coefficient, then
the quantity (1-r2) is called
“3fi r TR QAR W, (98 AR (1-r2)
zq
(i) coefficient of determination
e g
(i) coefficient of non-determination
Sl @R
(i) coefficient of alienation
TERS BT
(iv) None of the above
8YFq OIS 7Y
(Choose the correct answer)

(o= TaCh! AR Bfeyean)

8A/218 ( Continued )

@

(e)

(g)

2. Answer the following questions :

(3)

Show that
ST @
(GM)? = AM xHM

What is scatter diagram?

e o 32

Z = Xg“' is called :

z=%¢ Q@I |

(Fill in the blank)
(08 3% =79 )

Show that
ST @

E(CX) =CE(X)
where, C is constant.
TS C 9ol #77 |

T il TR Ted o

(@)

(b)

8A/218

2x4=8

Praove correlation coefficient is

symmetric, i.e., ryy =Tyyx.

EHIT 9 OEE 8RS ﬁi\ﬂ:lﬂ, ie,

er :ry)(.

Define mathematical expectation.

SRS erom el it |

{ Turn Over )



(4)

(c) Assume that for two random variables X
and Y, the sample covariance

ke e X )
n-1

is negative. In such a case, the two
regression coefficients would also be
negative. Why?

Q@ T @ ol AGORE 5o X W Y effond
REVE
ﬁﬂx -X)(Y -Y)
YT | G2 CRaO SHEEH R0l 018 FNIS
=7 | 72
(d) State the conditions under which
(i) AM > GM > HM
(i) AM = GM = HM
% 56 Ao
(i) AM > GM > HM
(i) AM = GM = HM
2?7
3. Answer the following questions (any three) :

5x3=15
Tod PPTYRd Ted ol (R crean fofom) -

(@) What are the requisites for an ideal
measure of central tendency?

9Ol W @FERE GOl ARNPE e
59EE 5 57

8A/218 ( Continued )

(S5)

(b) Compute the 3rd quartile from the

()

(@)

8A/218

following frequency distribution :

O IRKRO [oTaT o[ o TedE S
¥l

Class Interval Frequency
c1q fersm SERIE L]
0-10 4
10-20 9
20-30 14
3040 8
40-50 5 >

For two mutually exclusive events A and
B, show that

T RR RES WA A W BT AW
aqeq @

P(A+B) = P(A)+ P(B)- P(AB)

Given /fr tacg
No. of accidents No. of days
s 1773 R31

0 46
1 ?
2 ?
3 25
4 10
5 D

Total = 200

If the mean is 146, calculate the
missing frequencies.

MM MG 146 =, (93 @A IR S
31

( Turn Over )



(6)

(e) (i) State the physical significance of
zero correlation.

[ TR COISF Mol Trgy 7 |

() What does r? signify?
r23 efere] 3 9

(@) If two lines of regression are
Y+2x=0 and 8y+x =0, find r.

M T R @ y+2x=0 WE
8Yy+x =0, (33 r iy 511 |

4. Answer the following questions : 10x3=30
TS ePPTRA e fora

(@) Either | =3

Define median and mean deviation.
Write any three advantages and

disadvantages of median and mean
deviation.

TR =F T4 Roewm sigen fay TSR
o1 ifRen = s fory | i

Or / 541

The'life of eighty condensers obtained in
a life testing experiment has been
presented below. For the distribution

calculate (i) mean and (i) standard
deviation :

8A/218 ( Continued )

(7))

e 4 A€ 41 TR Y[ Gore WG
e 49 36 291 Y TR OIRFRTIRAS (el
(2| % OfRFR [l (i) TG A (i) TS
RbeTe a1 364 ¢

Year No. of condensers
=7 REe 4R AT
0-1 3

1-2 9

2-3 2

34 8

4-5 11

56 13

6-7 12

7-8 8

8-9 9

9-10 5

(b) Either | &

When is rank correlation used?
Calculate Spearman’s coefficient of rank
correlation from the following :

I TR feu 2R 20 7 wee fim ouE
R AR (I 727 72e Ay 41 ¢

Rank'ofX '+, 4 gl2ueves . 5 57 e 6
X3 I
Rarkof ¥ T 5 B 2% 127 136
Y3 @i

Or / H241

Find out the regression coefficients of Y
on X and X on Y on the basis of the
following data :

8A/218 ( Turn Over )



(8) (9)

wre il ©IPERE RAS Y4 X3 SRS e ( For Science )

X3 Y3 e9e fSf IR Fmm 2om 9w fdfy ;

41 : ( Introduction to Econometrics )
2X2:250, LY =3200’ ZXY =7900, 5. Answer the following as directed : IX{=7
¥ X2 =6500, $Y* =10000 and N =10 e fRgPTEd et Sl Ted fia

(c) Either | ¥ (a) Distinguish between a parameter and a
tatistic.

What are meant by exhaustive, ¥

mutually exclusive, independent events, <51 2175 R Bt Aferefe e Ay o= |

simple events and compound events in (b) The estimator $X/n of population

probability? T ks

seiftere fefl, [ [ffe, oa <6, SR MR AFFR X [/ n ¥

3@ qoA1 S1F (e 1o 5 2 : . :

(i) unbiased estimator
Or / §41

ooy SRl

State the binomial distribution law of

T ‘ R i1 istent ti t
probability. Mention its properties. Find (), ‘consisient estimatop

the binomial distribution having mean Ao Ao
12 and variance 8. (iii) Both (i) and (ii)
SRR farl 3579 e ol | TR e (i) R (i) T
g‘i‘*ﬁg‘ 1'_::5 ;‘:T”I 12 9$ 2519 8 =, (93 (i) Neither (i) nor (i)

(i) 31 (i) <B18 7=
(Choose the correct answer)

(e TE0o! AR Sferean)

(c) What is meant by test of significance?
Sefeer <[t 3fercet & @ ?

(d) Define coefficient of determination.

e weiee sk |

8A/218 Turn Over
Ba1218 ( Continued ) ( )



(e} Whether a test is

(9)

(10 )

one-tailed or
two-tailed depends on

I 9O R G- A B4R GRO!
free 33

(1) null hypothesis
i@ g931 e
(i) alternative hypothesis
s =959 eve
(i) simple hypothesis
S UFFS S[O
(iv) composite hypothesis
AT o7 eo)®
(Choose the correct answer)
(o= T AR Sferean)

Mention any two uses of the t-test
statistic,

%ﬁwmﬁm@wmﬁ

Write two measures of ‘goodness of fit’.

‘ceper 1T W1 et fayay |

6. Answer any four of the following questions :

o i CIeAT BRI 2w Tes oy

(@)

8A/218

2x4=8

Under standard assumptions of a linear

regression model, what ro i
; ] €
the OLS estimators s

( Continued )

(b)

(c)

@)

(e)

8A/218

(11

Distinguish between point estimation
and interval estimation.

R ot o RafS si e “qrefe o o

Write any two properties of partial
correlation coefficient.

e s e [ @ o e
fer=m o

Name the problems that arise in the
estimation of a linear regression model,

when the assumptions of E (u?] =82 and
E(u;u;) =0 are violated.
cifem Sfeqme E (uf) = 8% W E (;u ;) =0
TE 9 W, RE SHREE wiiE sve Te]
RN TG = {1
You are given :
Mean Standard deviation

Brand A 16000 km 2000 km

Brand B 20000 km 4000 km
Assuming normal distribution, indicate
what percentage of Brand B might be
expected to run more than 24000 km.

comre fra CacR

14 7 5o
@s A 16000 &. . 2000 . .
@ B 00000 f&. 1. 4000 f&. .

PTR q%ae 4R (e @, &% B
24000 RrfwE B I ORI WS
(R ~A13 |

(TumOver)



Uj)

(12 )

Let X be a normal random variable with
mean 10 and standard deviation 4.
Determine the probability of
P(12 £ X <£15).

@1 2’4 X 9ol 2PI ARS 5o1F I 14 10
g e [ 4. P(12 < X <158 S
[GEISREEIN

7. Answer any three of the following questions :

5x3=15

word i e Fofor e Tam forey

(@

(b)

()

(d)

8A/218

Wh.at are the characteristics of g good
estimator? Explain clearly.

<Ol TS ATIERE CIFEPTR ARZRTS
I 40 5

Vu_'haF do you mean by parameters of a
distribution? What are the parameters
of binomial, Poisson and
distribution?

BT 3B A16e1 3ferce 6 =1 0 fa i
aﬁwwaﬁaﬁ%ﬁggéw

M.ention the various steps associated
with tests of significance.

ALFe AAFR TS Gies
G © QTS MCPIR Tray

Explain statistical and g i
: ' S eterministi
relation with suitable example T

TRE THRIE SRS A
AR AT 3 | S fiffe

normal

( Continued )

(e)

8. Answer the following questions :

(13 )

In the context of hypothesis testing,
explain  briefly the terms null
hypothesis, alternative hypothesis and
level of significance.

o A e, {E o, Rew ao0 e
FOR BI I A

Wﬁ?ﬂ W RPES W‘ﬁ’ﬁf*ﬂ :

(a)

8A/218

" No. of mistakes : 0 1

Either | 27
Show that (i) the mean of the binomial
distribution is np and (i) the variance of
the binomial distribution is npg, where n
is number of trials, p is the probability
of success of an event and g is the
probability of its failure.

Gy @ (i) et 3593 T0 np W (i) Fas
3G9 2R npq, T n 4B R, p «ol
R oTHOR TR TF g TFOTHOR
sBIfdel |

Or / "«

Describe how Poisson distribution
arises. The following mistakes per page
were observed in a book :

2 S

Frequency SHaLL DL e

Fit a Poisson distribution to the data
and find the expected frequencies.

( Turn Over )
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(b)

8A/218

(14 )

Mo I (AT TeA T, I T 94
fForr afet Pre e goprz wee fiar
2’
oy 2 0 1 2 8 4
J[@Ee ;211 90 19 5 ¢

SYPTRA 0 76 3% A 1
IREES AT F41 1 -

Either | 7

For a linear regression

model
Y: fﬂ"‘BXi +U;, obtain the QLS
estimates of & and B and show that B is
the best linear unbiased estimate

9Bl CART SR SR Y, =

A OLS Ffiee o W g ﬁ%_;ﬁ‘:%*gg
(ST @ B 0 ©F 9l i
e | R

Or / Jeqr

What is the justification for introduci

the random disturbance term in g 1ir?tleng
regression model? What are the variot?r
a§sumpﬁons made about thS
disturbance term in this model? ;

AR WA RS T weeR
4R & fegeer s 9 L‘K‘{%w;af;;

( Continued )

()

8A—5000/218

(15 )

Either | 2
Explain - the concepts of sampling
distribution and standard error of a
statistic. Write down the utility of
standard error.

oforf I I AN $E 4R O W0
90 | A T AREACOR Sefeafarer o o

Or / |91

Define x2 and outline the features of its

distribution. Explain the concept of
degrees of freedom in this context.
Outline how the goodness of fit of a
theoretical distribution can be tested

with the help of x? statistic.

3 35 (x2)3 K= WE WE @AFErER

B | @2 PP FOTOR WAl YREICHl RN
41| 2 I SRS TS ITT  SPIET
Cel (@I (1491 7, SreP T |

* & Kk
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